R 2 2=A
woRonOR BRI LWz 2 TEhHEE ] o CREEX)
m g g g | CEHANEEAIC 4 mLLESET 5B

(P HEEY O R EMOMRF I T D RM15 2 2585 1 H)

b, za b Bk EROEAE EXER RSO (FIFREIELE)

FH i F | FRLSEARILShHERE
B35 % T BEERORLACET
i% o | RAE R R R 60%, HEERFEE 200%)
Hit
| Bk Hdsqth | HERS K Mk
T F F 5| #rE
R Y A & HEE
1£4 3% a2 B N R 5 E
FoHE 2
D72 W B 2.17m
B35 85 A = i
Y Hh AR 161.38 m
iR Ci R H T A 91.21 m —  m 91.21
HETHFE 179.50 i — m 179.50 m
. A i — & | B
56.52 %
(Z4 % (24 _ (24
[ by 2 B 5 Aol
B s 8.041 m —  m 111.23 %
AFERIEEAEICES L WEsy (B —4 & i)
HEOWE 4 mATm
TR L UE
cNEFERIC E S THEOEENRINTWA D
1 = CHEORENAmPL ETHHHD




